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3,545
L 1
2. 2
3. 3
4 4
5. 5
6. 6
1. !
8. 8
9. 9
10. 10
11. il
12 iV
13 13
14 14

123451213 14
4.2

11,200
.. 2538

250
247
2?

249
225
106
106
105
106
200
373
506
440
432

3,945

6,7,8,9,10

8

u

14
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14
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11.00
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54.00

55



11.

12
13,
14,

10.

11.

12
13

14,

© OO0 —~N4 O O

10

=

13
14

© O N4 o U1l B o N

10

=

13
14
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17.00
32.00
32.00
43.00
55.00
65.00
65.00
59.00
30.00
30.00

2.50
2.17
2.10
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217
217
2.17
2.17
2.17
2.11
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217
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6.00
6.00
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2.00
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17.00
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3750 63.00
3750 63.00

2.00
2.00
2.00
2.00
2.00
2.00
2.00
2.00

0.00

0.00

2.30-2.38
2.30-2.38
243- 317
243- 317
241 -2.70
241 -2.70
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F-01
F-02
F-03
F-04
F-05
F-06
F-07
F-08
F-09
F-10
F-1
F-12
F-13
F- 14
F-15
F-16
F-17
F- 18
F- 19
F-20
F-21
F-22

— R R K o &

6+8

— &~ o1 oo

14
sum
mean
sd

192
3
506
154
142
142
142
89
9
112
165
3
240
204
241
50
98
249
12
72
225
165
3515 2
159.773 1.000
104.429 0.000

T T T T e T E e o T e e T T T o T e T e B e e

()
110.000
24.000
137.000
88.000
82.000
68.000
68.000
70.000
68.000
91.000
108.000
50.000
107.000
153.000
152.000
59.000
70.000
194.000
58.000
85.000
85.000
94.000
2021
91.864
39.099

59

()
215.000

135.000
440.000
279.000
290.000
186.000
183.000
213.000
166.000
128.000
202.000
186.000
136.000
177.000
175.000
144,000
153,000
243.000
221.000
214.000
192.000
134.000
4418
200.818
69.474
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110.000

192

F-01

F-01

4.3
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24.000

3
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F-03 1 506 1 137.000 440.000
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279.000

88.000

154

F-04

F-04

4.6



)

(

)

(

290.000
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F-05
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F-06 1 142 1 68.000 186.000

4.8 F-06
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68.000
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F-07

F-U7

4.9
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70.000

89

F-08
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4.10
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68.000

19

F-09
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411
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F-11 4 165 1 108.000 202.000

4.13 F-11
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F- 12 1 33 1- 50.000 186.000

4.14 F-12
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F-13
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4.15
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264
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241

14
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4.19 F-17



-vi

243.000

194.000
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-01
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- 04
-05
- 06
-07
-08
-09

-10

-13

-14
-15

-16
-7
- 18
- 19
-20

-22

-PI\DH(NOI\JNH(N@@OOA@OQI\)()‘I@\I@(N-&
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mean
sd

()
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224
176
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204
171
144
182
83
156
243
3l
198
131
108
m
168
154
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172
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47.001
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95.500
84.000
74.000
125,000
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120.000
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130.000
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19.688
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160.000
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118,000
269.000
279.000
143,000
138.000
165.000
3865
175682
86.158
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1 SD.=0510

42
421
44
22
3515
69.474
1 SD.=0
2
3481
86.158
i
69%

113

2 vl
159.773 SD. = 104.429
(T,) =91.864 SD. =39.099
v (i2) = 202.818 SD. =
2 1
158.277 SD. =47.091
(T1) =88.500 .. =19688

(T))  =175682  SD.=

32 1455

b1 S.D. =80.060

{T) =90.182 .. =30.639



78.385

159.773 158.227

(T1)

1,000

114

(T2) - 188250  SD. =
54 1.227
S.D. = 0.424
(3515 481 )

159

(88.500<91.864,175.682 <202.818 )

1455 :
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422 ri !
L ( Dependent Variable )
T,
2 ( Independent Variable )
X,
X2
X3
X4
( Dummy Variable ) X5
1
e >1
2 e >0
Xy
Mean ,
SD.
F 95 %
F 95 % SPSS

10.0.7 for Windows



13 2 T~ FCR )

© g o

10
1
12
13
14
15
16
17
18
19
20
21
22

4.2

12
1
1

6+8

«©

&~ o1 o™

13
14
14

Mean
SD.

L)

110. 0
24.000
137.0
88. 0
82. 0
68. 0
68. 0
70.0
68.0
91. 0
108. 0
50. 0
107.000
153. 0
152. 0
59.0
70.0
194.000
58.0
85.000
85.0
94.0

2021. 0

91.864
39.09

x( )

192

506
154
142
142
142
89

&

112
165
3

240
204
241
50

98

249
122
12

225
165

3515. 0
159.773
104.429

()

13.500
9.0

19.000
17,500
17. 0
11.000
9.0

9.000
9.000
13. 0
13. 0
11.000
15,000
15. 0
15.000
9. 0
9. 0
13. 0
11.0

13.500
135

110

278.0
12.636
3.079

X
2110
2.110
2.1
2.100
2.100
2. 0
2110
2.110
2110
2110
2.170
2. 0
2.110
2110
2110
2170
2170
2.110
2170
2.110
2110
2110

49.9
2.212
0.199

)M

8. 0
0.364
0492

22.

0

1.000
0.

0
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o —~a o »

(< IO S

Mean

e o)
104.000
88.500
95.500
84.000
74,000
125,000
96.000
85.000
100.000
71.000
65.000
82.000
75.000
75.000
120.000
60.000
75.000
89.000
62.000
130.000
108.000
83.000

1947.000
88.500
19.688

()
146
224
176
187
187
204
171
144
182
83
156
243
ad
198
131
108
111
168
154
170
172
135

3481.000

158.227
47,001

«

()
14.660
16.500
16.500
17.000
16.500
16.500
13.750
14.660
16.500
14.660
17.000
16.500
16.500
16.500
13.750
13.750
13.750
16.500
16.500
13.750
13.750
14.660

340.140

15461
1.303

xq
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000

)

44,000

2.000
0.000

Xq

O O O O O O O O O O o o o o

o O o o o

o

0.000
0.000
0.000

117

DR D

N N

35.000

1591
0.503
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43 Entered/Removed X,, X2X3X4X5  Entered X2 X,
Removed

Variables Entered/Removed b

Variables Variables
Model Entered Removed Method
1 X5, Xl,
X3, X4, X2

2 Backward
(criterion:
Probability
X4 of
F-to-remo
ve >=
.101).
3 Backward
(criterion:
Probability
X2 of
F-to-remo
ve >=
.101).

a Enter

a. All requested variables entered.

b. Dependent Variable: T1

4211 ?
SPSS

T,=a(Constant) + B, X, +B 2X2+B3X3+B 4 Xi1+B5X6

Model Summary

Adjusted std. Error of
Model R R Square R Square the Estimate
1 *703a 494 427 23.19438
2 m701b 491 439 22.94690
3 *694c 481 443 22.87579

a. Predictors: (Constant), X5, X1, X3, X4, X2
Predictors: (Constant), X5, XI, X3, X2
c. Predictors: (Constant), X5, XI, X3

4.4 R 1Rsqaure  Adjusted R Square



44
0.703 2
Adjusted R square
22.87579 3

V, =a(Constant) + X, +B3X+BaXs

ANOVAd
of

Model Squares df

1 Regression 19923.84 <)
Residual 20443.21 38
Total 40367.05 43

2 Regression 19831.19 4
Residual 20535.85 39
Total 40367.05 43

3 Regression 19434 97 3
Residual 20932.08 40
Total 40367.05 43

o

Predictors: (Constant), X5, XI, X3, X4, X2
Predictors: (Constant), X5, X1, X3, X2

c. Predictors: (Constant), X5, XI, X3

d. Dependent Variable: T1

=

45 ANOVA'
Sig F
1, 1
H,:.B = 2= 3=B, = 5=0
HAB 0:1=12

HO S

1(X, X, x3 X4
R=0701
3 0.443
ANOVA

Mean Square

3984.768
537.979

4957.798
526.560

6478.323
523.302

05 Sg F

F<

7.407

9.415

12.380

Sig.

119

,000a

,000b

,000c



Sig. F 1000
Ho B =B2=Bj=B4=Bs5=0

95 %
T1=a(Constant) + B x1+B2X2+BaX3+B4X4+BaX5

Ho:B =B2=B3 =B5 =0

HA B 0;1=1,2
HO  Sig F<
Sig. F 2 00

Ho 1=B2=B3 =Bs=0

95 %
T, =a(Constant) +«BjX, +B2X2+BaX3+B5X6

3 3
0:,=23=5=0
H A Bi 0;1=12
HO Sig. F<
Sig. F 0.00
Ho B =Bj=B5=0
: 95 %

"= a(Constant) + BIX, +B3X3+BX5

SPSS

0.05

120

HA

0.05
HA

0.05
HA

90 %
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L T,=a(Constant) + B,x, +B2Xj+BaX3+BaX4+B5X5

.Ho:a=0
Ha:a*0
H  Sg. T< 10
Sig. T a 0.012 0.10
H a=0 HA
a=147.708 90 %
Ho :B, =0
Ha bi o
HO Sig. =< 10
Sig. T B 0.000 0.10
Ho B =0 1 0.239
90 % (1)
(X)
Ho:B2=0
Ha :B2*0
HO  Sg. T< 10
Sig. T B3 0438 0.10
Ho  B3=0 90 %
(Y '
(X2
.HO0:B3=0
Ha :B3*0
HO  Sig T< 10
Sig. T B. 0.080 0.10

Ho ffiB.70 3
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42.368 (1)
(X3 90 %
.Ho :B4=0
Ha :B4*0
HO  Sg T< 10
Sig. T B4 0.680 0.10
Ho Bi=0 B4
(Il
(X4 90 %
.HO:B5=0
Ha :B6? 0
HO  Sig. T< 10
Sig. T 5 0.060 0.10
HO B. %0 B5 -20.515
(1)
(X9 90 %

T. =a( constant ) B,x. +BaX3+BsX5

a,B,.B3B6
T1= 147.708 +0.239 X - 42.368 X3 20.515 X5

- 147708 + 0.239 « :
))—(42-368>< ( )) -« 20515x (

o p IR o w1y



2. T,=a(Constant) + BIX1+BjX2B.X.+B.X.

.Ho:a=0
HA:a" 0
Ho  Sig. T<
Sig. T a 0.009
H  a=0
a=137.836
Ho :B1=0
Ha :B1*0
HO Sig. T<
Sig. T B, 0.000
B =0
N0 %
(X)
Ho :B2=0
Ha :B2*0
HO  Sig. T<
Sig. T B3 0.391
Ho B2=0
(t)
(X2
.Ho :B3=0
Ha :B370
HO  Sig T<

10
0.10
HA
90 %
10
0.10
B, 0245
(T
10
0.10
90 %
10

123



Sig. T
B3 - 38.040
%
HA:Bs 0
HO  Sig.
Sig. T
(X9

'1=3( constant ) B,x1+83X3+B6X6
a,B,.B3Bs

T1= 137.836 +0.245 Xr 38.040X3-21.418 X5

(38040 X
)

B3 0.076
Ho 3=0
(3
T< 10
Bs 0.043
Ho  Bs5*0 Bs
(T
90 %
= 137.836 +(0.245 X

) - (21418 X(

124

90

0.10
=-21.418

)-



Model
1 (Constant)
X1
X2
X3
X4
X5
2 (Constant)
X1
X2
X3
X5
3 (Constant)
X1
X3
X5

Coefficients a

Unstandardized
Coefficients

B

147.708
.239
1.473
-42.358
5.062
-20.515
137.836
.245
1.594
-38.040
-21.418
145.554
272
-36.052
-16.696

a. Dependent Variable: T1

4.6

std. Error

56.066
.058
1.880
23.545
12.198
10.567
50.227
.055
1.838
20.884
10.230
49.280
.045
20.693
8.634

3.7, =a(Constant) + B,X, +B.X. +B5x.

.Ho:a=0
HA:a 0

H  Sg.

0.10
HA
90 %

Sig. T

standardi
zed
Coefficien
ts

Beta

.623
132
-271
.064
-.309

.640
143
-.243
-.323

711
-.230
-.251

T<
a

2.635
4.133
.784
-1.799
415
-1.941
2.744
4.452
.867
-1.821
-2.094
2.954
6.031
-1.742
-1.934

10

0.005
H  a=0
a = 145554
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Siq.
.012
.000
438
.080
.680
.060
.009
.000
.391
.076
.043
.005
.000
.089
.060
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.Ho:B, =0
Ha :B,*0
HO Sig. T< 10
Sig. T 1 0.00
0.10 Ho B =0
0.272 90 %
(T (X)
-Ho :B3=0
Ha :B3;*0
HO  Sig. T< 10
Sig. T B3 0.089
0.10 Ho B3 *0
B3 -36.052
(T (X3
90 %
Ho :B5=0
HA:Bs 0
Hg Sig T< 10
Sig. T Bs 0.060
0.10 Ho  Bs *0
Bs - 16,696
(1) (X9 90 %

T1=q( constant ) B,X, +B3X3* Bsx6

a.B,.B3B6
T1= 145554 +0.272 X,- 36.052 X3- 16.6% X



250.000

200.000

150.000

100.000

50.000

0.000
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« « ;= 145554+ (0.272 X ( ) -
36.052 X ( « ) - ( 16,69 X (
) « 3

«

1 1= 147.708 +0.239X,-42.368 X|- 20.515 X6
2. 1'1= 137.836 + 0.245 XI 38.040 >321.418 X6
3. T1= 145554 +0.272 X,- 36.052 X|- 16.696 X5

3 (X) (X3
(X3
3 T1= 145554 +0.272 X,- 36.052 X3 16.696 X5
Adjusted R square =0.443 2 1
Adjusted R square =0.439 0427

4.1

0 100 200 300 400 500 600
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T, =145554 +0.272 XI' 36.052 Xj- 16.696 X5 f
3 ( 1
) 1 4 (
, )
90 %
1. T100 X1
() “ ()
1 (L)
0.272
1 )
0.272
2. T100 1/Xg
“ ()
()
1 (1)
36.052
r(r )
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4.2

250.000
|
200.000 '
i |
150.000 t *
| T |
100.000 { —

| R V: AR, (SR, .
| : |
50.000 ——— ! PSS .
0.000 i

0.000 0.500 1.000 1500 2.000 2.500 3.000

3.7, 00 1/X]
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L ( Independent Variable )

2. ( Dependent Variable )
X,

X5

X2

X4
1.00 x 1.00

X6
X7

Xa

131



X7

X9

X1

X8 =

X1

X0

X1

X2=0

Xg

X,0

132



o1l B w

© —g o

10
1
12
13
14

16
17

19
20
2
22

4.1

12
1
1

6+8

©

~ o1 o

13
14
14

14

4
14

Mean
SD.

t2

215,000
135.000
440.000
279.000
290.0

186.000
183.000
213.000
166.0

128.000
202.000
186.0

136.000
177.000
175.0

144.000
153.000
243.000
221.000
214,000
192.000
134.000

200.818
69.474

192
3
506
154
142
142
142
89
N
112
165
3
240
264
241
50
98
249
122
n
225
165

159.773
104.429

*2

67.5

52.0

78.000
82.500
82.500
61.000
46.500
64.000
52.000
30.500
67.500
61.000
45.000
45.000
45.0

41. 0
41.0

67.500
45.000
67.500
67.500
45.000

57.023
14.587

SPSS

"3

2.000
4.769
4.000
5.600
5.600
6.000
4.769
5250
4.769
2.000
2.000
6.000
4.000
4,000
4. 0
4.400
4.400
2.000
4000
2.000
2.000
4,000

3.980
1.393

*4
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*6
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ol B w

© -y o

10
il
12

14
15
16
17

19
20
21
22

4.7

BB o ww M o oo N4 o o B

o o1 oo

mean

12

188.000
222.000
241.500
199.000
209.500
232.000
0.000
142.0
249.000
153.0
160.0
259.0
218.0
274.0
00
0.000
118. 0
269.000
279.000
143,000
138.000
165.000

175.682
86.158

146
224
176
187
187
204
1711
144
182
83

156
243
a

198
131
108
m
168
154
170
172
135

158.227
47091

X2

76.950
119.750
119.750
51.250
119.750
119.750
0.000
76.950
119.750
76.950
50.250
119.750
119.750
119.750
00
0.000
16.700
119.750
119.750
16.700
16.700
76.950

75314
47.952

SPSS

*3

2.340
2.800
2.800
2.558
2.800
2.800
0.000
2.340
2.800
2.340
2.5%5
2.800
2.800
2.800

0.000
4.000
2.800
2.800
4.000
4.000
2.340

2476
1123

X4

59
15
15
50
15
15
0.0
55
15
)
50
e
15
1.5
0.0
0.0
30
15
15
30
30
59

0.0
15
15
0.0
15
15
0.0
0.0
15
0.0
0.0
15
15
155
0.0
0.0
0.0
15
15
0.0
0.0
0.0

o O o o o

o

O O O O O O O O O o o o o

o O O o o o

Xp  Xu
0 0
0 1
0 1
10
0 1
0 1
0 1
0 0
0 1
0 0
10

O O O O O O O o o o o
—

Xp

o o
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4231

«

T2=a(Constant) + , X, + 2X2+B3V B4X4B5X5+B6X6tB 7XHB8X8Box+ BuoXuwt

@11 N 11+ ® 12 712

2
1 T2=a(Constant) + 1X1+BX2B6X6

2. T2=a(Constant) +B. X. +B4X4B5X6

« 1
Variables Entered/Removed b
Variables Variables
Model Entered Removed Method
1 X6, X1, X2 a Enter
a. All requested variables entered.
b. Dependent Variable: T2
48 X, X7 X6
Model Summary
Adjusted std. Error of
Model R R Square R Square the Estimate
1 B07a 651 623 37.61096
a. Predictors: (Constant), Xe, XI, X2
49 R Rsquare  Adjusted RSquare T2= a(Constant) + B, x, + B2x B6X5
4.9 R,RSquare  Adjusted R square
R R
Square 1.00 1 R RSquare
807 651



T2=a(Constant) + B1X1+B 2X2 B6X6

136

Sig. F 49 Sig. F
0.05
'2=a(Constant) +BIX1+ 2B 6X6
HO:B, =B2=86
AAB 0;1=1,2...
HO  Sig. F< )
Sig. F 1 0.000
0.05 Ho :Bi=B2=
Bs A A
95 %
ANOVAb
Sum of
Model Squares df Mean Square F Sig.
1 Regression 97764.84 3 32588.282 23.037 *000a
Residual 52339.63 37 1414.585
Total 150104.5 40
a. Predictors: (Constant), X6, X1, X2
b. Dependent Variable: T2
4.10 Anova Sig. F 1
95%  T2= a(Constant) + B, X, +B2X2B 6xs



«
.HO:a=0

HA:a £0

HO  Sig
411
0.05
HA :a” 0
95 9%

. HO :B1=0
Ha :B1*o0
HO  Sig

4.11
0.05

HA :B1;*0
95 %

(X)

.Ho :B2=0
HA :B2"0
HO  Sig.
411
0.05
HA B2~ 0

137

PSS
T< 05
Sig. T a 0.000
Ho a=0
a 95.715
T< 05
Sig. T B, 0.000
HO B, =0
B, 0.359
(T2
T< 10
Sig. T B2 0.000
Ho  B2=0
B2 1427



95 % (Tj)

Ho :B6=0
Ha :B6*0
HO  Sig. T< 05
4.11 Sig. T B 0.044
0.05 HO B6=10
HA :B6" 0 B6  -42.333
95 % ("2

Coefficients a

standardi
zed
Unstandardized Coefficien
Coefficients ts
Model B std. Error Beta t Sig.
1 (Constant) 95.715 20.541 4.660
Xl .359 .073 483 4.904
X2 1.427 273 .758 5.220
X5 -42.333 20.297 -.300 -2.086

a. Dependent Variable: T2

411

.000
.000
.000
.044



T2= a(Constant) + B, X1+B X2B 6Xg
a, B, B2 By
T2=95.715 + 0.359X, + 1,427X2- 42.333 X6

= 95715 + ( 0.359

)) +(1.427X( ))-( 42333 X )

? 1 95 %
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2

Variables Entered/Removed

Variable Variahl
Model EnteredS Remov Method
1 X5, X4 XI a Enter

a Al requested variables entered.
b.  Dependent Variable; T2

412 X, X4 X5
Model Summary
Adjusted td. Error of
Model R R Square R Square t%e Estimate
1 _ K/da 454 413 52.24022
a Predictors: (Constant), X5, X4, XI
413 R Rsquares Adjusted RSquare ' 2= a (Conitant)+ B1X, + B4Xa+ B5X5
413 R,RSquare  Adjusted R square
R R
Square 1.00 1 R RSquare
674 454
J2=a(Constant) + B, X, +B4X4 B5X5
Sig. F 4.15 Sig. F

0.05



2
T2=a(Constant) +B1X, +B 4X4 B5Xs5

Ho:B,=B4 =Bs1
HA B 0;1=1.2...
HO  Sig. F<
Sig. F
0.05
Bs HA
ANOVADb
of
Model Squares df Mean Square
1 Regression 90792.29 3 30264.096
Residual 109161.6 <0 2729.041
Total 199953.9 43
a. Predictors: (Constant), X5, X4, X|
b. Dependent Variable: T2
4.14 Anova Sig. F 1
9% %
B, X, +B 4X4 B5X5
PSS
.Ho:a=0
HA:a” 0

HO  Sig. T<

4

1 0.000
HO:B =B4=

95 %

F Sig.
11.090 .000a

T2=a(Constant) +

10



4.15
0.10
HA:a o
90 %

.Ho :B1=0
Ha :B1* 0

HO  Sig.
4.16
0.10

HA :B1* 0

90 %
()

-H. :B. =,
Ha :B4"0
HO  Sig.
4.16
0.10
HA :B" 0
90 %

.Ho :B5=0
Ha :B5*0
Hg  Sig.
4.16
0.10

Sig. T

Sig. T

Sig. T

Sig. T

T<

B

T<

B4

T<

a

B

B4

Bs

142

0.005

Ho

69.420

0.000

0.391

10
0.000
Ho
12.464

B4+=0

10
0.073
Ho Bs- 0
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HA :B5" 0 5 7.266
%0 % ) (12

Coefficients a

standardi
zed
Unstandardized Coefficien
Coefficients ts
Model B std. Error Beta t Sig.
1 (Constant) 69.420 23.272 2.983 .005
X1 .391 101 .459 3.875 .000
X4 12.464 3.615 407 3.448 .001
X5 7.266 3.946 .220 1.842 .073

a. Dependent Variable: T2

4.15 ' 1

T2=a(Constant) + B1X, +B4X4 B5Xy
a, B, 1B4,Bs
T2=69.420 + 0.391X, +12.464X, +7.266 Xy

| =69.412 + (0.391 X ( ) +
(12.464 X ( )) +(7.266 X( )

2 2 90 %
2

1 T2=95.715 + 0.359X, +1.427X;, - 42.333 Xy
2. T2=69.420 + 0.391X1+12.464X, + 7.266 Xg
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400.000
350.000
300.000
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150.000
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50.000

0.000
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1 ( 1 )
0.359
° ( . )
0.359 95 %
1 ( 1 )
0.391
[ ] (1 )
0.391 90%
& & ‘31:: ’ R ] //‘
100 200 300 400 500

4.4

600
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2,200 2
! « « ( )7
‘ « « « ()
- 1 (1 ) f
1421
. 1)
1.427
95 %
= 450,000 -
= 400000
£ 350,000
& 300,000 -
0 250000 1 — //—/;
C 200,000 ke ~
P 150000 - ’1":{/ 5
5100000 |
50.000
0.000 i
0.000 20.000 40,000 60.000 80.000 100.000 120,000 140.000

45
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3.7200 1Xg
! , ( )
- 1 (1 )
42.333
- 1 (1 )
42.333
95 %
500.000
=
«3 450.000 +
=
3 400.000
¥ 350,000
£}
£ 300.000
€ ;e §
& 250.000 1 &
= x
& § ¢
€ 200.000
(]
@ »
§ 150.000
% 100.000 ]
s
€  50.000
0.000
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4.7

4, 82c0 X4
1] ! 1 ) n
1] )“

- 1 (1
12.464

- 1 (1
12.464

90 %
2 4 5 6 7 8
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5.7200 x6
ta ()

500.000 -

450.000

400.000

350.000 .

300.000

8

250.000

L d . L3 &
200.000 :
L3 %
150.000 < |
100.000
50.000
0.000
0 1 2 3 4 5 6 7

4.7
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424 :
(12 5
(X), (X2, (6, (x4
(x3
( Dummies Variable )
(Mean 5.D0.)
q
1
11
2
0410 0.198
12
?
0.298

0.040
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0.056
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mean

0.289

0.409
0.539
0.484
0.258
0.572
0.516
0.000
0.542
0.481
0.503
0.314
0.462
0.549
0.437
0.000
0.000
0.142
0.445
0.429
0117
0.121
0.466
0.410
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418

b o R o I i I o R I |
] 1 L} L] 1 L}
© oo ~N o1 B P

F- 16
F-17

M T T M T M M M M M M 7

- 10
-1
- 12
- 13
- 14
- 15
- 18
- 19
- 20
-2
-22

0410

>

>

il
11
6+8

~N N4 OO0 O

mean

mean

0.298

>

>

0.289

0.385
0.296
0.284
0.254
0.300
0.313
0.285
0.268

0.298

0.314
0.177
0.328
0.238
0.334
0.328
0.331
0.254
0.257
0.278
0.198
0.315
0.352
0.336
0.289

15
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0.374

«

23
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mean

0.138

0.385
0.328
0.254
0.300
0.313
0.328
0.285
0.268
0.539
0.484
0.572
0.516
0.481
0.462
0.549
0.437
0.142
0.445
0.429
0117
0.121
0.466
0.374
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2.2

2.3

F-1
F-4
F-5
F- 10
F-11
F-18
F-20
F-21
P-1
P-8
P-10

0.096

11

w A~ A 0w & B o

mean

0.059

0.351

0.314
0.296
0.284
0.238
0.334
0.278
0.315
0.352
0.409
0.542
0.503
0.351
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0.266
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F-3
F-13
F-14
F-15
F-19
F-22
P-4
P- 11

0.374

mean

0.351

12
13
14
14
14
14

>
>

0.266

0.177
0331
0.254
0.257
0.198
0.336
0.258
0.314

0.266
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3 .
31
24 0.358
0.133

F-1 4 0.314
F-4 11 0.296
F-5 11 0.284
F-6 1 0.328
F-10 5 0.238
F-1 4 0.334
F-12 1 0.328
F- 16 ! 0.285
F-17 7 0.268
F-18 4 0.278
F-21 4 0.352
P-2 5 0.539
P-3 6 0.484
P-5 6 0.572
P-6 5 0.516
P-9 6 0.481
P-12 5 0.462
P-13 6 0.549
P-14 5 0.437
P-17 2 0.142
P-18 6 0.445
P-19 5 0.429
P-20 1 0117
P-2 2 0121

mean 0.358
422
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3.3

F-2
F-7
F-8
F-9
F-20
P-1
P-4
P-8
P-10
P-1
P-22

4.23

45

0.098

45

0.66

0311

0.259

0.385
0.254
0.300
0.313
0.336
0.409
0.258
0.542
0.503
0.314
0.466
0371
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F-3
F-13
F-14
F-15
F-19
F-22

0.374

>
>

0.351

12
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14

mean

>
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45
0.266

45

0.177
0.331
0.254
0.257
0.198
0.336

0.259
45
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